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And if he bought it mistakenly, — DRIPAY 2T 1 A2 1P AN
the monies should be returned to their original place

Overview

The Xn>"2 states that if one mistakenly bought a ina2 with w"yn myn,' the monies
go back to the buyer and the cow goes back to the seller. mo01n explains what >"w"
means that we force the seller (against his will) to return the money to the buyer.

= NI TPV NPNRT OINTN INNY 991190 19199 ZV‘)\DJYP: v
»''"w9 explained that we force the seller to return the v"v» money, since it is an

erroneous sale -
= ©YHVIY N9HYAY NN 1YY NHYIVLT ‘nh‘mb M NY 1D VYN MYNY yT1° NYN ONT

For if the buyer would have known that it he is buying the 7772 with awy» nwwn,
he would not have bought the 7173, for it is a bothersome affair for the buyer to

bring the 7272 to 2w -
- }1739902NY 17159 XN 1IN MYNH)

And on the other hand he would be more pleased to bring the money to o5u.

nvoIn asks:
- *orHwyyrY MYYY YV 1T NIN NI NATIN 7Ha 999D NN 40)? 79 99NN ON)

And if you will say; what punishment is this for the seller; on the contrary, it
is profitable for him to return the money, for then he will be exempt from going

up to 205w -
= 0MPNY 1IN 199NT 1159 1752 1IN IW TUYN YW Mynn 2

! He did not realize that the monies were @"yn nwn.

? awa .

? This buyer (who initially had the w"vn my») if he would be aware that it is w"y» my», he definitely would not have
bought this 7772 with w"y» myn (which would have made the nn72 to become w"¥n), for then he would need to take
the nnm2 to 2°>w17°; he would much rather take the w"vn myn to °9w17 than the 72, Therefore since it is a npn
myv, the money and the 772 must be returned to their respective original owners as if nothing transpired. See
‘Thinking it over’

* The statement 12727 NX 1913, indicates that he is being punished; we are forcing him to do something he does not
want.

> The X2 taught that one is not permitted to buy a 72 with w"yn myn. Presumably therefore if one bought a
A with w"vn myn (inadvertently), the w"yn nw17p will not be transferred, so the money will remain w"y» Myn and
the 772 will remain 7°21. When we realize what happened, the seller (who now has the w"v» nwn) would be
required to go to 2°2w17°, but now that we say ampn? o7 11, the seller need not go to 27w, so why is it
considered a 01p. See ‘Thinking it over’. [Even though the sale is nullified so the seller lost the sale, but that is not so
great a loss (compared to the bother of going to @°>w17°), for since the cow is being returned to him, he can find
another buyer.] See the X"w"7n and yw17 °10 for a (totally) different explanation of N1©0IN question.
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Since the monies of w''y» are no longer in the seller’s possession, for we rule
that everything must return to its original place?!

MooIN answers:
= D2YPNRY DT 19N DIININ IRY N1 1Y NXIN VIP INTIT 99D U»

And one can say; that this which we rule that ampnb 29a7 171, is certainly a

punishment for the seller -
- SDHYINY MYNN MYYNYN 19019V B35 NPNA NITN INYAT

For (even) without reversing the sale we can exempt the seller from bringing

the money up to 2%%w1" -
- 7139395 9910Y ANRMD 1NN TAY TUINN MYN DYITH YINY NP9 05959810 19V

For we would require the buyer to exchange the 7wp? of the w'y» nwn,

which is in the seller’s possession (for something else), since the seller is present -
- DYOVIVY \o¥N NN M

And then the buyer would need to take them up to 25w,

- DYV 1129 YANOYW NPIYY N9DIdY P94 51399
And this is what the X7n) asks later, ‘let us punish the buyer’, n¥21n explains
that to mean that he should eat the equivalent of the w"v»n myn (which he gave to

the seller) in av»w= -
$92990 AV TVUYNN MyN HWVITp 1YY HoN»

And he should exchange the 27 of the w''y» nywn which the 9212 has in his
possession on the food which he will purchase and eat in o221

Summary
The reason why 2mpn? 7 1717° by AW is because it is a myw npn for the buyer

would never had bought the nn72 and be required to take it to 2°%w1, had he
known that his money was w"yn my»n. Had we not said ompn? 017 171, the np1?
would have to be % the w"vn myn and/or eat 2°7w17°2 D710,

% Even if we assume that the money which is by the seller is w"yn myn, nevertheless the seller would not be required
to bring them to 2°>w17°, for we would require the buyer to redeem those monies for other monies (or food) which
the buyer has. The seller then would have his sale and not be required to go to 0°7w17°. However now that we say
that 1P 1, the seller (even though he need not go to 0°%w1, nevertheless he) lost the sale and will have to find
a new customer (perhaps at a lower price).

7 See later on this A°pnn 11"7 '010 7MY (the view of the X"2™).

¥ mooin is out to prove that if we would not say ampn? 077 11 (and not punish the 121 but rather the nip1?), the
n?Y2 would be required to be 9omn the w"vn mwn, which the 231 possesses (as Mo0IN maintained in his answer).

? See 2,1
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Thinking it over

From the beginning of NMd0IN it appears that the 7w17p of the w"yn is transferred to
the mm2.'" However from mooin question it appears that the w17 remains with
the w"vn myn and is not transferred to the mnaa.'' How can we reconcile this
apparent contradiction?

10°See footnote # 3.
1 See footnote # 5.
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